ALTERNATOR: 845940

030

10413

7745810 - 030 - 030-0210

10413

Upd: 22 NOV 2005
VOLVO
TPPPENTA

TMD100C



ALTERNATOR: 845940

030

REF | PART NO. | QTY DESCRIPTION NOTES
1 845940 1 | Alternator 28V 55A. FOR 24 VOLTAGE ELECTRIC SYSTEM.
2 847704 1 |- Rotor
3 847705 1 |- Stator
4 847706 1 |- Mounting kit
5 847707 1|- Fan
6 1 |- HOUSING
7 847708 1| - Ball bearing
8 1 |- HOUSING
9 847709 1 |- Mounting kit

10 847710 1 |- Screw kit

11 1696944 1 | - Diode bridge (6212687)

12 840629 1| - Bearing carrier

13 840630 1| - Ball bearing

14 847712 1| - Protecting casing

15 864006 1 |- Regulator (1696946)

16 859312 6 | - Flange screw

17 840632 1 | - Brush retainer

17A 859312 2 | - Flange screw

18 955779 1 |- Nut (M4) W

965483 2 |- Nut (M5) D+, B-
945407 1| - Flange nut (M6) B+
19 941904 1 |- Spring washer (FOR M4) W
20 840634 1| - Damper kit

7745810 - 030 - 030-0210

TMD100C

10413

Upd: 22 NOV 2005

VOLVO
PENTA



